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QUESTION NO: 1

A user would like to be kept informed of changes that occur on a particular work item.
How can the user accomplish this?

A. Subscribe to the work item.

B. Use a data warehouse report.

C. Review the Open Work Items widget.

D. Link the work item to a planning item.

ANSWER: A

QUESTION NO: 2

An organization is considering utilizing preconditions to enforce process behavior of work items.
Which elements define the configuration? (Choose three.)

A. Role

B. Release

C. Timeline

D. Work Item

E. Editor Presentation

F. Operation Behavior

ANSWER: ABC

QUESTION NO: 3

An organization is defining how to structure the project area and has decided to exclude using team areas.
Which scenario matches this decision?

A. Multiple timelines.

B. No process required.

C. Small project with a few developers.
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D. Restrict visibility to streams and components.

ANSWER: C

QUESTION NO: 4

A development team would like to apply tighter governance of code towards the end of its release
How is this implemented? (Choose two.)

A. Restrict deliveries based on role.

B. Restrict deliveries based on access group.

C. Require read only attributes on work items.

D. Require change sets to be approved before delivery.

E. Restrict check-in to the developer repository workspace.

ANSWER: D E

QUESTION NO: 5

A developer working in the RTC Eclipse client has checked in their changes and found that another developer's incoming
change set has affected the same file. The developer attempted to Auto Resolve the conflict, but was unsuccessful.

Which of the following would cause this to occur?

A. The incoming change set appended new lines to the file.

B. The developer's change set included changes to multiple files.
C. Both change sets contained changes to the same line in the file.

D. Work items related to the change sets affect the same component.

ANSWER: A

QUESTION NO: 6

A scrum master has defined which groups of people will work on different aspects of the project and has requested
assistance from an administrator to help organize the project accordingly.

Which of the following would the administrator configure to assist with this?
A. Releases related to Owners

B. lterations related to Timelines
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C. Streams related to Flow Targets

D. Work Item Categories related to Team Areas

ANSWER: D

QUESTION NO: 7

A project manager wants to create an effective project dashboard and is planning the content.
Which points should be considered? (Choose three.)

A. Determine the goals for the dashboard.

B. Consider creating a project plan dashboard.

C. Determine how the dashboard addresses the goals.

D. Consider the layout and number of columns for the dashboard.

E. Determine whether to use a personal, project or team dashboard.

F. Choose reports to add to the dashboard that will display the appropriate metrics.

ANSWER: BEF

QUESTION NO: 8

A scrum master needs to manage work items from multiple project areas and create a cross-project plan with a set of master
work items. The scrum master wants to see a roll up of the schedules of work items related to the master work items.

Which work item link type permits this?
A. Parent

B. Tracks

C. Resolves

D. Depends On

ANSWER: D
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